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BIG IDEA#

-1) MASS BALANCES TO
ANALYZE REACTORS

OF DIFFERENT CONFIGURATIONS

2) DETAILED QUANTITATIVE ANALYSIS

OF KINETIC DATA

3) USE t LIMITATIONSOF
SOLID CATALYSTS FOR

REACTIONS

4) INCLUSION OF ENERGY

BALANCE TO ANALYZE
REACTORS THAT REQUIRE

COOLING OR ARE NOT ISOTHERMAL

5) SOME CONSIDERATION OF FLOW

LIMITATIONS OR MIXING IMPERFECTIONS
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dp I DIAMETER OF CATALYST PELLET
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Mf = VISCOSITY OF LIQUID OR GAS

Sf DENSITY OF LIQUID OR GAS
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VOLUMETRIC FLOW
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L = DISTANCE IN FLOW DIRECTION
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- I SUPPOSE I COULD ASK YOU

TO INTERPRET RESULTS



- MASS BALANCES FOR REACTORS

OF VARIOUS CONFIGURATIONS
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HEAT REMOVAL = RATE OF

GEMMATION
THROUGH WALYCOILS
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I AGAIN PICKED THE CONCEPT

OF 908 CONVERSION t TF ,NAL
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NO MATTER WHAT - . .

IF A MOLE OF M IS PRODUCED

DH = -41000J
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REACTION EQUILIBRIUM
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FILL IN X 'S FROM A MASS BALANCE

Yz Nat Z Hz I Nttz

INITIAL Equilibrium

Nz 25 25 - E

Hz 75 75 - 3 {

Nttz o 22

-
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100 100 - 23



REACTION RATES
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CATALYSTS :
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COULD HAVE EXTERNAL

RESISTANCE
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F-XTERAL COMPARED TO

INTERNAL RESISTANCE
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BACK TO NON ISOTHERMAL
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